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Seating Arrangement for SBI Clerk Pre, IBPS Clerk Pre, LIC Assistant 

and IBPS RRB Exams. 
SA Set No 158 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

In a classroom, there are two rows of chairs. There are 6 seats in each row of 5 people. In row-
1 Iron Man, Thanos, Captain America, Thor and Spider Man are facing south while in row-2 
Black Panther, Ant Man, Doctor Strange, Nebula and Hulk are facing north but not necessarily 
in the same order. 
  
Iron Man is sitting second to the right of Captain America while Thanos is sitting at corner. One 
of the two vacant seats is in one of the corners. Thor is sitting immediately right to Spider 
Man. Iron Man and Nebula are related in the same manner as Ant Man and Thor are related. 
Thanos is sitting in front of Hulk. Black Panther is not sitting with Ant Man. The person, who is 
sitting in front of Ant Man, is immediately left to the Thanos. Spider Man is sitting diagonally 
opposite to Hulk. 
 
Questions : 
 
1. Who is sitting immediately next to Black Panther? 

A. Ant Man  B. Doctor Strange  C. Both Doctor Strange and Ant Man  
D. Hulk   E. Thanos 
 

2. Who among the following is sitting immediately next to one of the vacant seats? 

A. Iron Man  B. Nebula  C. Captain America D. All of the above E. None of these 
 

3. Select the pair which sits in front of vacant seats. 

A. Doctor Strange - Captain America   B. Black Panther – Spider Man 
C. Spider Man – Doctor Strange   D. Hulk – Spider Man 
E. Doctor Strange – Thor 
 

4. Who sits immediately next to Captain America? 

A. Thanos  B. Iron Man  C. Thor  D. Spider Man  E. Black Panther 
 

5.  Which of the following pair/pairs sits/sit opposite each other? 

A. Iron Man – Ant Man, Thor – Nebula  B. Thanos – Doctor Strange 
C. Thanos – Doctor Strange, Spider man - Hulk D. Spider man – Hulk 
E. Thor – Black Panther, Thanos - Nebula 



 

 

Correct Answers: 
 

1 2 3 4 5 

B D C C A 
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Common explanation : 
 
References: 
Iron Man is sitting second to the right of Captain America while Thanos is sitting at a corner. 
  

Thanos is sitting in front of Hulk. 
  

The person, who is sitting in front of Ant Man, is immediately left of Thanos. 
  

Spider Man is sitting diagonally opposite to Hulk 
  

Inferences: 
From point 2 and point 3 we conclude that Thanos is sitting at the extreme right end. 
  

Hence, now we can place the persons in the figure as per the references 

 

 References: 
One of the two vacant seats is in one of the corners. 
  

Thor is sitting immediately right to Spider Man. 
  

Black Panther is not sitting with Ant Man. 
  

Iron Man and Nebula are related in the same manner as Ant Man and Thor are related. 
  

Inferences: 
Hence the vacant seat of Row-2 is vacant at the end. 
  

Rest persons will be arranged as per the references (Now, according to the statement 1, Iron Man is sitting 
second to the right of Captain America.) 
  

 

 And the arrangement gets done. 
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Answers: 
 
1.   Following the common explanation, Doctor Strange sits immediately next to Black Panther. 
 

Hence, option B is the correct answer. 
 
 

2. Following the common explanation, Iron Man, Nebula and Captain America are sitting immediately 
next to one of the vacant seats. 

  
Hence, option D is the correct answer. 

 
 

3. As per the final solution, Spider Man and Doctor Strange are sitting in front of vacant seats. 
  

Hence, option C is the correct answer. 
 
 

4.   Following the common explanation, Hence, Thor sits immediately next to Captain America 
  

Hence, option C is the correct answer. 
 
 

5. Following common explanation, more than one pair (Thor – Nebula and Iron Man – Ant Man) sits in 
front of each other. 

  
Hence, option A is correct.  
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